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Warm Up
Given that f(x) = ­2(x ­ 3)3 + 1, determine the slope of the secant that 
connects the points where x = ­1 and x = 4 on this function.
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Average Rate of Change (AROC)

-  rates of change describe how one variable is changing in relation to another.

slope

-  To find slope (linear function)...
Need TWO points from an equation, graph or table.

EXAMPLE:  Determine the average rate of change from
              t = 0 to t = 2 seconds given...

-  AROC is found by calculating the slope of a secant. 
     (a line that goes through two points on a curve)

NOTE: AROC > 0 (increasing function)
AROC < o (decreasing function)
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1)  Complete the following worksheet...

Worksheet ­ Intro. to Average Rate of Change.doc

Average Rate of Change...

2)  Read page 76 and get a sense for the focus of 
    this unit and how it pertains to Mr. Lam.  Look
    over the data on page 76 and use to answer
    question 6 on page 76. 
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Average Rate of Change

The graph above shows the total production of suits by Raggs Ltd. during one
morning of work. Industrial psychologists have found curves like this typical of the
production of factory workers.
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L. What was the hour-by-hour production for the morning?

[ Time 8-9 9-10 10-11 11-12
#suiTs}

2. What was the average hourly production from 10AM to 12NOON?

What is the slope of the segment RT?

3. What was the average number of suits produced per hour from 8AM to 12
NOON?.. s

What is the slope of PT?

4. What conjecture can you make about the average production and the slopes of
the secants?
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Solutions...
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